5. 0. Crocker, Jr.
daval Architect
332 Yeshington Street
Yoston, Hass,

SPECIFICATIONS NQO. 131

45' 11" WATERLINE AUXILIAZY SCHCQNER YACHT

IN GEHERAL:

In carrying ovt these #pecificstions, it is und
: 2 o ¢ P i ', derstood that
workmanship ehall be firet class, that the waterisls used shall be zf pL

ood :
glg dggg%ég?._and that the stock shall be remsonably clesar and free Ffrom

The specifications and drawings are intond
: t g a o & ronded to cooperat
80 that any woxks exhibited in the drawings end not mentionedpinRESése
;gg:}ﬁ;ggtionﬁf or vi:?lversa, are to be executed tho seme as if they were
‘ n vhe gpeciflcationa and get forth im tho
any extra charge whastever. S el

Ho changee are to be made in either the plans or specifications-

without the written consent of the Architect.

DIMENSIONS Length Overall  B3' 3"
TN SR LT, Length Vaterline 456" 11"
Beoamn 14' 11"
Iraft B EIG
KEEL: (wooden) ¢f olear, sound oak, moulded 7 1/2" and sided

as par rabbet line. Mortised to receive heels of all frames with the
exception of station frames. 211 through fastenings to be & tight driving
f£it through keel to prevent leaks. A8 an additional precaution, place &
ring of cotton caulking or oakum, soaked in red lead, around bolt on top of
keel bhefore setting up nuts.

PORVARD QVERBANG PIXBER: ¢f oalk, in two pieces as shown, sided asg per

rabbet line and moulded as shown, rastened as indicated on Construction

Plan, :
AFTER QVEREANG TINBER: (f oak, sided as per rabbet line and modided

ag shown. Fastened as indicated on Construction Flan.

KEEL: (lead) To weigh approximetely 14,000 pounds, plug or
minuse not more than 3%. To be sheped exactly to designed lines. Center
of gravity to fall 11 1/4" aft of Station No. 9. Lead to be balanoced

to chack center of gravity before festening in place. To be bolted as
ghown on Conatruction Plan.

STEM: ¢f oak, sided 5 1/2", moulded as shown, and
fastened as indicated.

STEN KHEN: ¢f ogk, mounlded ag shown, Hook or lock

scarphed to forward overhang timber.

=



DEADWOOD: ¢f oak or hard pine,

STOPWATERS ; The entire foundation to bae carefully stopwatered.
STERN : 0f oak, conatructed on radius as shown on Line Plan, .

Planks to be 1 1/4" thick and not over &" wide, properly cleated and
dowelled together. Faghion pieces of 2 1/2" oak. Zneed to tail feather
with 3" osk knee.
FRAMES : Of clear, straight-grained omk, spaced 12" on centere,
and %o have & finished dimension of 2 3/4" x 2 3/4"., Fremes on mould
stations 3 to 9 inclusive to be on forward side of station, end frames from
No. 10 and mould stations aft to be on after side of station, To be
Steamed and bent oversize and then beveled outmide and inside to conform
to final dimension of 2 /4" x 2 Bf4", To be very carefully stayed and
braced so that frame will absolutely hold the shape of the moulded stafion.
¥loor timber to be bolted to frame with at least
three 5/16" dim. galvanized iron screw bolts in the heel of each frawe.

After these frames have been made to conform to the
moulded sections of the boat they are to be set ny a8 formg and ribbends
screwed to them.

All intermedimte frames to be steamed and bent over-
eize, ﬂeveled inside and out, end Titted to the inside of the ribbands with
hecls morfisad into and securely fastened to koel.

Frames from about No. 2 mould stetion forwerd to be
moulded cants,

There will be 11 auxiliery frames, 2 3/4" x 2 3/4",
steamed and bent from bilge stringer to bilge gtringer, bolted to floor
timbers with 5/16" die. galv. sorew bolte, and planking fastened to them
the same as to the main frane. Care must be taken in spaoing Plank butts
to provent them coming in same bay with auxiliary fremes.

Absolutely no broken or orecked frames to be used.

FLOOR TIMBERS: ¢f oak, ocarefully shaped so that planking lgye snugly

to them, Uf heights and thicknerses as shown. TFastened to keel with bolts

of sizes as shown. FHeels of timbers to be bolted to floor timbers with at
least three 5/16" dis. galv. sorew bolts in the heel of each timber.
Planking to be seourely fastened to floor timbers the same &s to the main
frame,

LINMBERS: Ample limbere at every frame. Bottom of boat to be
run with wax up to the height of all limbers.



CLANPS ; Of long leaf yellow rine, 2" x 6", to be as shown on
Construection Plan. Clamp which carries the forward deck frame to run way
through to the stern; this clamp to be tapered at the ends to 2" x 5",
Lower edge fastened at every frame with 5/16" galv, iron bolt, and upper
edge to be through fastened through outside guard (see Seotion Drawing #12)
with 3/8" galv, iron bolt at every frame,

Scarphs to be at least 7'6" long and to come preferably
aft and well clear of the main rigging.

The clamp or shelf which carries the raised deck frame
to be 2" x 6" long leaf yellow prine, fastened at every frame with 3/8" dia,
galv, iron bolt,

There will be a short upper c¢lamp, as shown, lapped on
to the after end of shelf, of 2" x 6" long leaf yellow pine, fastened
alternately top and bottom at every frame with 3/8" dia. galv. iron bolt.

BILGE STRINGERS::. 0f long leaf yellow pine, 1 1/2" x 6", tapered at ends

to 4 1/2", To be carefully located as shown. Fastened alternately top

and bottom at every frame with 2/8" dia, galv. iron bolt.

PLANKING: Gf Cregon pine, to finish 1 3/8" thick, fiale strakes
to be of rift stock and not over 5" wide. Planks hollowed to fit frames.
Butte made on 1 3/4" thick oak butt blocks between frames, to completely
£ill the bay and bé 1/2" wider #ksmk than plank strake, Butts well dis-
tributed, Butts in the same bay to have at least three strakes between
themn, Butts in adjacent strakes to have st least three bays between thenm,
Planking to show a tight seamlinside and caulking seam of not more than
1/16" outside to receive cotton caulking end white lead putty.

Plank fastenings to be 1/4" dia, x 3" long galvanized
hateh (or hinge) nails, bunged.

After each plank has been fastened off and allowed
to set for a while, the Builder shall then give the plenk and each fastening
a final blow to ensure its hugging the frame snugly.

A1l butte and hﬁod ends to be screw fastened with

2 1/2" {16 galvanized screws.



DECK: _ To be lsaid double, of 3/8" thick three-ply Cregon
pine plug 1" thick teak. Seame of plywood to come on deck bears and
to have, if pomsible, but one fore and aft seam in the centor. The
1" teak to be leid fore and aft, in stripe 3" wide, care being taken to
have all éeama perfectly etreight. Caulking seams to be a strong 1/8"
width, or es smell & seam as Jeffery's marine glue can be satisfactorily
run into. (Care must be teken to have caulking seams of wniform width).
reck to be well painted between skins with a mixture
of thick lead and vernish.

Hain reised deck to be laid similar to forward deck
with the exception that the covering board will be 1%fthick teak, of same
width as the rall cap 2o a8 to carry this finish all around the boat.

Covering board on deck forward of the break to be}%%ngfaﬂ
8" wide, rabbetted sc as to show 7" wide when deck is laid.

The after main deck to be laid similer to the fLorward
main deok, but the rail osp will run on to thie deck, forming e wide
chock rail at its side end around the stern, To make this clearer, the
rail cap forward of the break runs on to the raised deck as the plank sheer
or covering board, and rung off the reised deck aft, forming reil cap at
the gl de of the cockpit, and continuing aft running on top of the after
deck, forming a wide chock rail at ite side and erocund the stern.

: TDeck fastenings to be galvanized iron hinge nails
3/16" diemeter x 2 1/2" long, bunged.

Dook seems to be caulked with cotton and run with
Jeffery's Black ierine Glue,

Skylighte, deckhouse and hatches to set down on to the
three-ply and the teak laid up to them, thus producing a caulking seam

all around.






